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SN BEBCBIANYL
B ¥rUc 29
Chel: By Mo FES cholE )
- B(EN) - NRAY - B S il &t o il 52
BT A AE A 4,313,018 2,562,999 1,750,
2 30,000
< 14,000
Al 4,269,018
HFHE 29 3,587,086 1,753,316 1,833,
2 30,000
< 14,000
Al 3,543,086
Mo 2RSS H 147,390 144,838 2,
s¥NgsEs 29 113,370 109,018 4,
201 Let24E] 48,262 46,990 1,
01 At 22l 20,882 12,360 8,
os=2=s MH 9,000
OMg=Zzd 823 1,000& = 9,0000H 9,000
ode=Jl g4tz 22,0003 = 8CH » 12& 2,112
Osszua JAFE FLS 7L
90,000& = 3H 270
oOUE MEwa 2Ax< 9,500
Os=ud ZA=Y 100,000& * 2% = 93 1,800
OEg2= HE2ZT ZAME
100,000& = 2H =« 33| 600
Og5cl wa ZAE
100,000& = 3H = 93| 2,700
OXNAMUH X MEHStW ZAt=E
100,000& = 43 =« 53| 2,000
OoH=E IIEHENY Z2AE
100,000& = 3H =« 83l 2,400
03 A2 E HI 27,380 34,630 AT,250
Os=na 2,400
Cu=EME 10,000& = 50 = 43| 2,000
Ot J& 100,000 * 43| 400
©21g 2 sl 2,400
OsBEE(82% 5) 200,000& = 13l 200
O3sHAl 500& = 1,000& 500
(OF~F4 10,0008 * 120 1,200
O MR =Z 100,000& * 5% 500
OX0tIte d2NH2H 1,200
CusM= 6,000& » 2009 1,200
OSga= NE2dg 360
CusM= 6,000& » 60H 360
Ogsel way 249 6,450
CuEM= 6,450
“EBHH B W= 8,500& » 3004 2,550
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-TEE A e 7,0002 * 300% 2,100
—E R B B HE 6,0002 * 300 1,800
ORHUUR MEHS D 2 1,500
OREME(108) 10,0008 * 309 * 53] 1,500
OUTLE JINEHEO Y 4,800
OLSMZ(105)  3,0008 * 200% * 83| 4,800
OO0IRI0IL B A 8,270
OE22 (849 135)
120,0008 * 25 * 30 720
OZH0txl, 2r=0 650,000 * 304 A 1,950
OB (0+&2) 800,0008 * 7% 5,600
203 AR =X 1,000 1,000 0
03 Al ER AR =Y 1,000 1,000 0
OREE UCAYL 2 1,000,0002 1,000
206 TH 2 bl 2,500 2,500 0
01 T2l 2,500 2,500 0
OMEIRZ 29 ME 100,0008! * 105 1,000
O0ME 2Y ME 100,0008 * 10Z 1,000
OHSZ 2UME 500
OUAH ST 100,0008 * 3% * 1 300
OFMEY ME 100,0008! * 25 * 104 200
301 LB A3 52,608 52,928 A320
09 SHANAIHI 2 &2 52,608 52,928 ~320
OXAZ AKX Al X 52,608
OSAES &l 10,0008 * 162 * 312 49,920
Oslol #AX Sl
7,0002! * 169 * 243 2,688
405 Xtk 3 S| 9,000 5,600 3,400
01 AL SZH S| 9,000 5,600 3,400
oOBBA HOIE RSX 7Y
300,0008 * 30CH 9,000
2 OHFEAID Ol 34,020 35,820 ~1,800
201 Yy | 33,270 35,070 A 1,800
01 AtR 2 el | 33,170 34,970 ~1,800
OFIIGHEBR HLaE 15,000
001205 2 500,0002 * 24 * 128 12,000
Ose# 250,0002 * 1A * 128 3,000
Ozl AEBRANB L+
220,0002 * 3CH * 128 7,920
©Z2I| HIBA £42 150,008 * 344 450
OM3TAIZ HSI| HIIZH At
200,00080 * 1744 200
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K- B3 e2(5) - ARAY - 8BS il
Oox=g83 M= 66& * 50,0000H 3,300
OZdz=Zggd 23 2

99,000& = 48 204 * 63 4,752
OAMZ A W CCTV SR e ===
600,000& * 123 7,200
02 3224l 246,151 208,701
O2+HAANY BRAWBL+2
330,000 = 404 « 128 15,840
OxZ+= HdESA 15,000,000& = 22l 30,000
Oxds+ E=ol 2AH 6,000,000& = 23l 12,000
Os=d RUEAI| =cldl 500,000& = 204 1,000
O==2 |X 22l 69,4408 * 6L + 128 5,000
O=83d E& 300,000 * 9 A + 23 5,400
OFstx EA 1,250,000& = 84 + 13 10,000
OzzE |FANE=H 65,118
O eols = 4,661 = 4,313m’ 20,103
O0lgolal 2t M1MAIZ  4,0808 * 2,460 10,037
O0golala M28 A2t 3,5843 + 2,9756m 10,663
O0eolal2 M3MAI2 3,584 = 3,849m 13,795
Os=3d =& 2 438 3,584 « 2,935m 10,520
oOR=E ==d 250,000& * 50& 12,500
SUHEH = 200,000& » 105 2,000
O&J| - SUAE =H 10,000,000& * 23] 20,000
OAIE &l =Xl 23,000
ORZ A4 5,000,000& =« 4CH 20,000
O&THA 0ff LA X2 300,000 * 10CH 3,000
OoduII ¥ BE4H =
2,000,000 = 5JH A 10,000
(©eaR=a] 34,293
Oolglolg & (22, X1|2 3EAI2)
1 73 = S5AI2E « 104 = 3JHA = 1002 16,755
OLtHI 24 EH 2
1,173 = 4.5A12t = 10£ = 100& 5,027
Os2¥d (AS2M, SEAM)
1,173 = 8AI2E * 142 ~ 100 12,511
206 T 2 4 62,500 62,500
01 M= 4l 62,500 62,500
OANL2e 83 & AR5 27,700
Od=2g =M 50,0003 = 1208 = 20 1,200
ogs 30,000% = 10& = 107H 3,000
OdHERES 20,000& = 15& = 1004 3,000
Ot 2t 20,000& = 10& = 1104 2,200
OFSWIEE— 40,000% = 158 = 100H 6,000
OLLRES 60,000& = 5& = 1504 4,500




SH HEdCBAYA
B §EUC 29
ool BRAL U HAS RA (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAMBNLNE DEEME BT
600,000& = 134 7,800
Ot AMEE FA2Ac & 3 FHH|
150,000& = 114 = 123 19,800
oxZ&2E ME 15,000
O0aolal & 60,0003 * 258 53| 7,500
O=ss¥ 60,000& * 258 * 53| 7,500
307 2I2t0l A 399,600 387,600 12,000
05 RIZHRI &3 399,600 387,600 12,000
OFFeHE HA & S#FHH /A
24,250,000& * 128 291,000
OBZFUC 01z FYIBY 7l
7,750,000& = 12& 93,000
OFEUCS 20 FYISY 7l
1,300,000& * 12& 15,600
401 Al B2 28I 1,985,802 241,500 1,744,302
01 A& Bl 1,980,402 241,500 1,738,902
OAMZ A W e M2 2 dBtE Y|
1,000,000& * 5JH £ 5,000
OME A W MSAIE HHZA
15,000,000& * 14 15,000
OBFUCHIAY A UAT W
20,000,000& * 14l 20,000
ongolala 3xJ EHuH ¥ =S A
2,000,000& * 200 £ 4,000
o2 SEE2e ¢ tiHZ ZXSAM
10,000,000& * 1JH 2 10,000
OJIZFHSIME 2 Lt DD LAY
8,000,000& * 1JH A 8,000
OM2EAI 2 HE2T] M2 2 H2E =2l
8,000,000& * 1JH A 8,000
OHM3TAIZ HSIIM2 & 544 FHISM
8,000,000& * 1JH A 8,000
OHMBEAIZ Bctel I WS A
5,000,000 * 10H 2 5,000
OS=¥ AAE U oo EXSAM
2,000,000& * 3002 6,000
Os=2&d AHAE 4X 5,000,000& * 1A 5,000
O==d HY ZMNE 2 0ss2 £X 128,952
OHY $AME 2 olsE2 X
120,000,000& * 1JH 2 120,000
O& Al At 120,000,000& * 7.46% 8,952
Os= A ZOXI EHIZAH
10,000,000 * 200 £ 20,000
OSES3A LALE ZHBA
10,000,000 * 200 £ 20,000
OJHBtAL SHZIHE Z A 20,000,000 » 102 20,000
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ool AL Y JAS RA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oaf ZAZEHAZE 4X 20,000,000& = 10024 20,000
OMEME O=2 WHIA
20,000,000 = 10024 20,000
OsS A HEAIE B 10,000,000& * 14 10,000
O==2&d FAHAIE HHl 1,000,000& = 200 & 20,000
OAMSA W BIDIFAIE &X
2,000,000 = 700 A 14,000
OURABOIAN 2T B2
5,000,000& * 1JHA 5,000
O==2d 28z 2= WA
500,000& * 2004 & 10,000
O=2d W SX8A 2 S22 &M
20,000,000& * 14 20,000
OS2 MHEA Reld WHSAM
5,000,000& * 1JHA 5,000
OM1,38AI 2 2I22E S At 1,522,950
Ocl2g g ZAtd| 1,500,000,000& * 14 1,500,000
OZ At 22l 1,500,000,000& * 1.53% 22,950
OMIA W ZEE EXI 7,500,0008 * 200 £ 15,000
O0eolal2 =4 =3 A
10,000,000& * 2J7H £ 20,000
oogolal 2 sHIHZ XDl Wl
250,000& » 1000 & 2,500
OsSE¥ Not+= =3EBZ uxH
3,500,000& * 200 £ 7,000
=23 SME 2L=H2A4d B+ 6,000
OMAE ¥ E2< WA
6,000,000& * 1JHA 6,000
A& S| 5,400 5,400
OM1,38AI2 22 S A AIE R
1,500,000,000& =* 0.36% 5,400
SHEQ AISSE 2l 362,025 1,407
2EL2 HH| 23,350 14,320
AtS 22l 21,250 12,220
Oss&Z® MA 300,000& = 2004 6,000
OsSaelZ20d RANES & W=
150,000& » 12&8 1,800
oOss&elZz20d JlsiHe
8,000,000& = 14 8,000
OMsZE TN7Y 100,000& * 10& 1,000
O=s==2&xg ditz 350,000& = 43| 1,400
OSSN S= 2 Y 242
100,000& * 32l 300
OAsZe I= 2,090
OStAH A= 90,000& » 1Y 990




SH HEdCBAYA
B §EUC 29
Sl DAL U HAS RXB2 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OsH HNg=(gdste) 100,000& * 11 1,100
O AIZ AF A S} 60,000& * 1Y 660
02 3524l 2,100 0 2,100
OEHIAL 2= Hel 700,000& * 33 2,100
206 M = Hl 335,675 315,588 20,087
01 M= bl 335,675 315,588 20,087
O=ss ANz F¢ 1,500& = 5300t2] * 365 290,175
OoOsg #*¢ 10,000,000& * 2& 20,000
Osg2 22 MNE= Mg S
40,000 * 50& = 103 20,000
OsE2AM 22ls 2 25,000& * 100m’ 2,500
OSSN 88 EHIME 20,000& * 504 1,000
OSsS=2sMA & TR
1,000,000& = 24 2,000
405 XH&HFE SHI 3,000 36,000 A 33,000
01 JHMY = ZF SHI 3,000 36,000 A 33,000
oOxX&® 23| 3,000,000& * 1CH 3,000
AES2 dg & 2oz 67,391 127,877 N60,486
201 et A | 16,351 17,987 AN 1,636
01 AFR2t2l Yl 10,260 11,870 N 1,610
OsSE2X X MESZAH| 50,000& =* 6021 3,000
OsS MMM =2 1,000& * 1,000kg 1,000
Oz HIIEXN2 =2 600,000& =* 43| 2,400
oOssdgad TN 7 100,000& * 10& 1,000
O =2 Al L=t 90,0008 = 4Y 360
oOs2&d =2 2| 500,000& * 43| 2,000
O0IMZ2 S8 & AtHI 100,000& * 53] 500
02 332494l 6,091 6,117 N 26
0A2=J| A&l 991
ORFU(HLSR)
1,363 * 200 * 154 = 12& 491
OZ=2lt] 250,000& * 2CH 500
OsE2d=E2 ZALEHl =2/l
100,000& = 150H 1,500
OAIMY S =2l 300,000& = 23| 600
Ost=s2d-IT2EIYI 3,000,000& * 13 3,000
206 M= Hl 29,840 49,840 A 20,000
01 X2t 29,840 49,840 A 20,000
Oz ¥ 98 4F L 238 7 29,840
(@)SIRsly— 100,000& * 205 = 12& 24,000
oYt E 10,000& * 200 2,000




FA: BFEHEZCIAIYE A
B §EUC 29
el 2EAE E HANS RA2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
(OFSE=R=E Yy 40,0003 * 965 3,840
405 TtHabF S| 21,200 60,050 A 38,850
01 AL EFSHSHI 21,200 60,050 238,850
OZct20t E2&0I 17,000,000& * 1CH 17,000
oxz&8 eAHIO0H 1,100,000& * 2CH 2,200
oHaE sgEd)| 1,000,000& = 1CH 1,000
oontolaz& cliol 500,000& =« 2CH 1,000
JI=HsNENSE2 23 43,600 43,600 0
201 LBH2EH| 33,800 33,800 0
01 At 2t 2l 2,000 2,000 0
OJI=HaME N2 MAHY TS ME
200& = 10,0008 2,000
03 A2 Z Hl 31,800 31,800 0
OJIFds MEWs T8 29 31,800
OHUYZ= & AL
100,000& » 3Y¥ « 403 12,000
Oz LAY
100,000& » 298 « 243 4,800
CuEM= 3,000& = 5,000H 15,000
206 M= Hl 7,800 7,800 0
01 =8l 7,800 7,800 0
OJIZHSIMEZ HIOQEZZNE # O
600,000& = 134 7,800
405 XtatE SHI 2,000 2,000 0
02 =M=l 2,000 2,000 0
O M7 2,000
OJI=dstdgnsa F2t A2 &A
12,5002 * 160& 2,000
AAXAEMI 2 K& 100,000 100,000 0
= 30,000
= 14,000
Al 56,000
101 124 dl 57,428 42,978 14,450
= 17,228
= 8,040
Al 32,160
04 DIt Z2REES 57,428 42,978 14,450
O A 2tcl 57,428
oJlzs 62,6603 * 3F » 247 46,432
= 13,930
< 6,500
Al 26,002
Osge2x=2E 93,990 = 2% * 29¢ 5,452
= 1,636
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HE: HIUCS 29
ool AL Y JAS RA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 197
Al 789
02 =224l 500 2,500 A2,000
OMAIXI2 &I E3ldl  500,000& * 13l 500
= 150
< 70
Al 280
202 44l 2,000 3,000 A 1,000
= 600
< 280
Al 1,120
01 SLHOYI 2,000 3,000 A 1,000
OsEEZE 2¢ 0l 20,0003 = 29¥ = 50 2,000
= 600
= 280
Al 1,120
206 M= Hl 10,092 20,000 A 9,908
= 3,028
< 1,413
Al 5,651
01 M= 4l 10,092 20,000 A 9,908
OgseIIss 2l ¥ HAME WE
841,000& » 12& 10,092
= 3,028
< 1,413
Al 5,651
==& 0& 130,000 0 130,000
308 AXIEHHSOIA 130,000 0 130,000
10 B2 S0t B & XA 130,000 0 130,000
O==2& O0I¥AAl EIEHE XA
130,000,000& * 14 130,000
BYSYFH (FZASDRIMY L) 725,932 809,683 £83,751
el 2l 321,851 404,722 A 82,871
oI 244l 321,851 404,722 282,871
101 @14l 321,851 404,722 A 82,871
01 8% 146,755 143,071 3,684
OxFUIZ 2L (YEHA) 146,755
OANZ 2R 80,424
o= 10,6823 = 7% = 30AI2t = 128 26,919
7= 9,649% * 11 = 30AI2t = 128 38,211
-85 8,663 * 4% « 30AI2t ~ 128 12,475
-9 7,830 * 1" * 30AI2F » 123 2,819
Osgz2*2=+8 66,331
-6 85,8673 * 3.59 » 68 20,437




SH HEdCBAYA
HH: BHSYAU (FFUCS AL L)
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
7= 77,5633 * 6.5% x 682 34,283
-8 69,633& * 2% * 68 9,471
-9 62,9413 = 1% = 34 2,140
02 JIEtE B = 34,411 34,039 372
OFHIAZF(ANLEZHl) E= 10,034
OZR2L4Y 10,034
NEEIELES=
9,773% * 2" * 20AI12F » 123 4,692
—SY2RE 78,5563 * 1% = 68Y 5,342
OLeAINH 24,377
OzU224Y 24,377
B EEE
7,698 * 53 x 30AI2t + 12& 13,857
—RY=2RE 61,8773 = 2.59% = 682 10,520
03 RIAHAZ 2B+ 140,685 227,612 A 86,927
Os=sA=2cl& 126,648
OHE(It3) 80,087
-234 Xt 32,279,520 « 1 32,280
-1349 Xt 25,669,080 * 1& 25,670
A=PN; 22,136,760& » 1 22,137
Oo=¢ 27,085
“IERE 4,440
- B X 40,0003 = 3¥ * 123 1,440
- EHIS 20,000& = 12.59 » 123 3,000
-AEZ2g
9,100 = 15AI2F = 3H » 123 4,914
-FL2f=E
9,100& = 8AIZ2t = 1.5H = 68 7,426
25 111,2233 » 3&8 » 128 4,005
=JHAH X2 175,000& = 39 = 128 6,300
OZEFtyl 1,445,980% = 398 * 23] 8,676
O= &l 150,000& 3 = 128 5,400
[@FnE=3:] 150,000& » 3Y¥ = 12& 5,400
ou=l 540
oxg= 90,000& = 3Y¥ « 23] 540
OC4liMaIBEZ JI22ES 13,497
O=00H3RE3 126,648,000& = 4.5% 5,700
OCLEEE=RE= 126,648,000& = 1.5% 1,900
OHLESEESRES 126,648,000& * 3.035% 3,844
OFIRLEE=ZRLES
3,875,430& * 6.55% 254
Ot M2 = 126,648,000 * 1.42% 1,799
=l 404,081 404,961 880




SH HEdCBAYA
HH: BHSYAU (FFUCSH2AANL L)
chelr D123l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Jl23Hl 404,081 404,961 A 880
201 £B-2d| 362,941 362,721 220
01 At 22l 64,908 63,768 1,140
oJl=2ge=8d Ss2H(JI&EZl)
13,500, 000& 13,500
o&ddla &+ ME 50,000& = 63l * 2JH 600
O&Z 1=l 120,000& = 2% * 23| 480
o=gd (JI&EZHl) 13,608,000 13,608
o= ML Ltz 1,500, 000& 1,500
o2f= 90,000& » 229H 1,980
oga==¢ 22,440
O=3 60,0003 = 1H » 365¢ 21,900
Oga 60,0003 = 3% » 3« 540
OPNE= RPN y=3 900,000& = 123 10,800
02 3323l 298,033 298,953 A 920
(OFSPIR=E=; 196,320
OJl= 8,000& = 550kW » 123 52,800
oMNEe3 1303 = 92,000kW = 123 143,520
OZHZBHSRH NMBBESEEER
100,000& * 6% 600
oORER= 633
Ogtts# 2703 * 200 54
ossH 1,930& * 300 579
CoHYWAIEZ 110,000& * 128 1,320
OLTALMAIAE RXNE=>
242,000 ~ 12& 2,904
O&ot=ER23 6,000,000& * 123 72,000
CIMERE =S 480
OXtg 60,0003 = 401 = 23| 480
OusReRE=s 9,900
OFak=; 550& = 18,000’ 9,900
QAo STV = 40,000& = 123 480
O Xt= xt 2,580
O&g:Eda= 450,000& 304 1,350
OO0IEXEE = 100,000 * 9CH 900
OXtS A 180
IR 30,000& = 304 = 23l 180
OFJIEME 50,000& * 3CH 150
OA& EHl R Xl 10,816
OXtE Xt 2,500,000& =« 4CH 10,000
O XE A 5,000,000& * 2CH * 6% 600




SM: BEHCBHAANYA
Ho: WHSYYH (FFUCSHRAIMYL)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OSsSA=28 0|EX
400,000 * 9CH = 6% 216
202 04| 29,160 29,160 0
01 2L I 29,160 29,160 0
©Jl=&d|(27H) 29,160,000 29,160
203 €2 F=&d| 5,280 5,280 0
02 BRI YR2FAH| 1,080 1,080 0
©J| =4 (100 N XI) 40,000 * 27H 1,080
04 FEASHELFFEH| 4,200 4,200 0
©J|Z=M (30021 0156H) 350,000 ~ 12€ 4,200
405 XHAHFI S HI 6,700 7,800 A 1,100
01 XAt 2 Z F S| 6,700 7,800 A 1,100
OSSHE 9 22 YHYI| PY

1,500,000 = 3CH 4,500

2,200,000% = 1CH 2,200




